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Order of operations

Evaluate each expression, then match each letter with the answers below to decode the message.

A 14 − 2 × 3 B 16 + 3 × 0 C 30 − 10 ÷ 5

D 10 + 9 − 26 E 40 − 16 ÷ 2 G 30 − 7 + 8

I 18 − 2 × 4 + 9 × 3 K 9 × 3 − 130 ÷ 5 L 81 ÷ 9 − 5 × 6

M 23 + (18 − 4 × 2) N 30 − (19 − 11) + 7 O 24 ÷ (5 + 3) − 7 × 4 

P 29 − 7 × 4 + 63 ÷ 7 R [18 + (9 ÷ 3) × 4] + 26 S 90 ÷ [54 ÷ (5 + 4)] + 35

T 46 − 7 × 5 + 24 ÷ 8 − 3 U 80 + 72 ÷ 8 × 5 − 16 Y 40 − 50 × 3 + 130 ÷ 10 + 60

16 56 8 28 1 32 11 50 8 56 32 8 −21 50 −25

28 8 −21 −21 32 −7 31 56 −25 109 10 37 29 31

50 −37 33 16 −25 −21 50

Puzzle sheet
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Answers 
A 8
B 16
C 28
D −7
e 32
G 31
I 37
K 1
l −21
M 33
N 29
O −25
P 10
R 56
s 50
t 11
u 109
Y −37

BRACKETS ARE ALSO CALLED GROUPING SYMBOLS
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